Test Paper |

Test Subject
Test Subject Code :|

: MANAGEMENT
K-1014 |

Test Booklet Serial No. :
OMR Sheet No. :

Roll No.

(Figures as per admission card)

Name & Signature of Invigilator/s

Signature:

Name

Paper
Subject

Time : 1 Hour 15 Minutes

Signature:
Name

MANAGEMENT

Maximum Marks : 100

Number of Pages in this Booklet : 16

Number of Questions in this Booklet : 50

e prrert SouRne

. B RWT RNDONE, wTNRT :j;éd@q Qe Breer® Rﬁowd@tud’oﬁo&

1.

Instructions for the Candidates
Write your roll number in the space provided on the top of this page.

2. 853300 LR 803, DB DB FIARL LIRS 2. This paper consists of fifty multiple-choice type of questions.

3. a’@eﬁc&v @dozﬁd@,l @%@35033?% DRRDERRTOPD. T mm 3. At thg commencement of .(axamina.ltion, the question booklet will
20 PRAECHD FCTHL0 By FINTT BTN TOEH BTG, be given to you. In the first 5 r‘qmutes, you'are requested to

-SRI =, ¢ R open the booklet and compulsorily examine it as below :

() BRI GBI T, 35 RO T Lorss Hedtdz () To have access to the Question Booklet, tear off the paper
TeTO? e TOCWO. RFT® A AQTTIHRE &, c30Red. ST seal on the edge of this cover page. Do not accept a booklet
TRBODR R BORLIR. without sticker-seal and do not accept an open booklet.

(i) DRI @%ﬂe‘? Rosd 0= Pwny zos%oms& S0DR)LIT e (i) Tally the number of pages and number of questions
F0RIRE B&S0IR0OR T2 RReRO. g—éuﬁq\;/g%ﬁ@; FF303393, in the booklet with the information printed on the
ST QP ST LDIDTNQT eFm 9IS R ]IS cover page. Faul_ty booklets d_ue to _pages/questlons
B ReRZPOB o BAREE DORR SHO 1, ReeEFOT B0 mlsslng or duplicate or not in serial o_rder on_' any

P d e . “ other discrepancy should be got replaced immediately
BOOT HIN WHTIMRTAG TR, @ WIT T, T Iy by a correct booklet from the invigilator within the
LBTORAPOHAY,, IRl T BDODTR EAROYRY; period of 5 minutes. Afterwards, neither the Question

4. BacdrobIIa(A), (B), (C) 08(D) 20w TR o) TesReod Booklet will be replaced nor any extra time will be given.
VIOV, ez géow 2T FOCINT YUZTT Foed, 7 53T | 4. Each item has four alternative responses marked (A), (B), (C)
@omé@c&)&q 6@5\#25@53. and (D). You have to darken the oval as indicated below on the
ORI @ ‘ @ correct response against each item.

(C) ROCIRT SuITTNT. Example : (A) ®

5. I 13 | 8¢, reihm OMR 38 mdcn®, B8 =82 | =3y where (C) is the correct response.

B3 3E 1| 89, wTom FIner Ay wvgcnsy Aeursymy OMR «vgd | 5. Yourresponses to the questionsare to be indicated in the OMR

TPoD Y, omBIohes el iR ;\,;gdq S0ZTBR, RHSATT, Sheetkept inside the Paper | Booklet only. If you mark at any

B0 FPYFRTI FRAHFO, place other than in the ovals in the Answer Sheet, it will not be

6. OMR &v30 mdehe) gni RABSAIR) eRcRBEc0E oo, evaluated. o

S N 6. Read the instructions given in OMR carefully.

7. 99, 300 FURE RFOL Eaeh SnEEd 7. Rough Work is to be done in the end of this booklet.

8. Bmy mMOTEEY WRTNIBIWENNT DRy B> eFm R | g |fyou write your name or put any mark on any part of the OMR
WA, RonEna Y Beo e, OMR vyt mden cangde Answer Sheet, except for the space allotted for the relevant
WNTY, WTTT, D6y WSBFEST PP THNTIG 0. entries, which may disclose your identity, you will render yourself

9. Toegedo RONTIeTT, Fmacmen OMR §u33 @odedd) FoReggort liable to disqualification. o
o besenieh iy Sm doc oot OMR = st | & et of the owamination compulsorly and mus: NOT
immm‘“‘ ngjﬂ)' NS carry it with you outside the Examination Hall.

10. Toegeh 5030, 0w, TY BTy T3 580 OMR ugd 9y |46y can take away question booklet and carbon copy of OMR
R0 SrichEncm Epertimm. Answer Sheet soon after the examination.

1. 260/ 37 weormatots I SRge wwmcdoeno. 11. Use only Blue/Black Ball point pen.

12. EyPenst® wgme oo’ 8Brie® BER0h wRdnena®y RN, |12, Use of any calculator or log table etc., is prohibited.

13. 20 ©uE Yw3TnvR 90 88 ATVYAY . 13. There is no negative marks for incorrect answers.

K-1014 ) %.2.85¢/P.T.O.




Total Number of Pages : 16

Aot
Jexzkor =l

N0 :

25 ByEod (50) 2938y FRHF IRTOCH FIRERTRReRR), BIednom FIchwe

QTR (2) eﬁoﬁﬁeﬁd& TROOT. SR, @%ﬁeﬁ@ BTONTIN LUZORLIER.

1. 20T Q0 &oert TeDIT.

(A) 0D ﬁzidoé , Q:S@O’%D&ﬂ TR

33 BT
3 30

(B) o030 ézidoé ,eﬁmd%%ﬂ TREOD
3, BRI

(C) estcd ézicﬁoé , QOLBC
FRTOIRMOZT (VPTDMITT)

(D) sstedd éz%doé ,EVPTIO zﬁzsbzgcﬁ

2. 04 = a+Dbp =TS b< 0NN DR
6,=C+dp;d>0 @ﬁm@rﬁ, FIOBRCOT
TOTIED SN33.

(C) 8.=a+c c-a
b-d

c-a
0e=a+b| —
(D) e b+d]

3. 2w @drm#‘@s €202 wad 2,000 0T
ema‘acm a =TT :fofo 03 TFIFoT

4. 30T eoly BT L3 WRTBE, Te3Sow
BLRBRR), CSRPTR), GUBSeeN
QGEFOROTT ?

(A) 33030 T

(B) =»00es Baoeed
(C) Bogomee® Rmes
(D) ©oema03Es

5. T’ FBReOTR) 03RH w@%&é (RoTedr)
Oi)d& TEAQRITT ?

(A) SRTIT 2 SeMDTTO e

(B) sRTOT 28 SLMPTT AReSHTD

(C) canm)Te BLMT DFEBeCITON 3§L
ROWS TP TRERW)TOIY,

(D) 22, ST TS ORI éai Tows
TRBS BULBRYLITOW

6. MOOR) BOZTA d) 3T @CS CTFY,
E:Sﬁo% TROT ?

0(6) =50 +250 +3002+ 5 5. 5 Rt (A) RoBRFne
STR0E Boed, B s 12 (B) Sososd Saes
ORIV, YUBRIT BOIRO 2830 3543, ®
2 2 (C) 20D 02T [ Ten [SFAROBY,
(A) 1001 (B) 1000 (D) rRoorieh Tert SSFASES
(C) 1097 (D) 1096
Paper I (2) K-1014




Total Number of Pages : 16

Management
Paper - I

Note :

This paper contains fifty (50) objective type questions. Each question carries

two (2) marks. All questions are compulsory.

1. Engel’s law states that

(A) asincome increases, amount spent
on food increases

(B) asincome increases, amount spent
on food decreases

(C) as income increases, savings
decline

(D) as income increases, savings
increases

2. If64 = a+bpwhereb< Oandg =c+dp
where d > 0. The equilibrium quantity is

c—a
(A) ee:a—C[m]

3. An economist estimated that the cost
function of a single product firm is
c(p)=50+250 + 3002+ 5 3. Based
on this information, the average total cost
of producing 12 units at output is

(A) 1001 (B) 1000
(C) 1097 (D) 1096

4. Industry concentration or nature of market
structure is determined by using the
following

(A) Asset size
(B) Sales volume
(C) Herfindahl index
(D) Profitability
5. Nash equilibrium represents a condition
where
(A) All players in the game are winners
(B) All players in the game are loosers

(C) No player can improve his pay-off
unilaterally

(D) One player can improve his pay-off
unilaterally

6. Group dynamics is concerned with the
study of
(A) Conflicts
(B) Individual behaviour
(C) How individual behaves in a group
(D)

D) How groups behave
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7. Morale is best defined by
A) Job satisfaction

(A)

(B) Lack of conflicts
(C) We feeling

(D)

D) Harmony with colleagues

8. Which of the following is permanent in
nature ?

(A) Motivation
(B) Attitude
(C) Interest
(D) Aptitude

9. People who are high on achievement
motivation are

(A) Highly intelligent
(B) Day dreamers
(C) Visionaries

(D) Realistic

10. Psychoanalysis approach to
understanding human behaviour is

based on

(A) Dream analysis

(B) State consciousness
(C) Heredity

(D) Socio-cultural factors

Total Number of Pages : 16

11. The nature of authority of a production
supervisor is

(A) Line
(B) Staff
(C) Both line and staff
(D) None of the above
12. Career plateau means
(A) Employees are happy
(B) Employees are unhappy
(C) Employees are unable to move up
(D)

D) Employees have become
redundant

13. Job design is concerned with
(A) Clustering of tasks

(B) Determination of authority of
responsibility

(C) Assignment of worker to a job

(D) Determining the wages for a job

14. Conflicts in organizations can be
eliminated forever by
(A) Suppression
(B) Peaceful resolution
(C) Providing higher wages
(D)

D) None of the above
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15. Empowered organization is 19. Duration of a bond is

characterized by (A) Cost of the bond issue

(A) Decentralization (B) Maturity of the bond

(B) Laissez-faire (C) After tax cost of bond

(C) Autocracy (D) Average time to repayment

(D) Self direction of control

20. In an efficient market, the market price of

16. When a conflict in ranking between NPV a stock is

and IRR occurs, it is resolved by
(A) Greater than its intrinsic value
(A) Using PT

han its intrinsic val
(B) Accepting NPV (B) Less than its intrinsic value

(C) Using ARR (C) Equal to its face value

(D) Accepting IRR (D) Equal to its intrinsic value
17. The Gorden’s growth model assumes 21. Portfolio risk can be reduced by

(A) Growth in ‘g’ (A) Diversification

(B) Constant ‘g’ (B) Adding riskless securities

(C) Constant dividend (C) Investing in mutual funds

(D) None of the above (D) Investing in bank deposit

18. No tax adjustment is necessary for the 22. Hard selling arises because

computation of the costs of
(A) Product does not appeal to

(A) Debt customers

(B) Equity only (B) Market in highly competitive
(C) Preferred stock only (C) Substitutes are available
(D) Both preferred and equity capital (D) Product is expensive

K-1014 @ Paper I
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23. Even under monopolistic condition, a

monopoly like situation is created by
(A) Product differentiation
(B) Price grouping
(C) Price differentiation
(D) Cutthroat competition
24. One of the essential conditions for brand
building is
(A) Heavy advertisement
(B) Quality
(C) Corporate image
(D) Sales promotion
25. Selling is tip of the marketing Ice-berg
means

(A) Selling is part of marketing process

(B) Selling process goes beyond

marketing

(C) Selling is less important than

advertising

(D) Selling is a routine function

Total Number of Pages : 16

26. Marketing intelligence refers to

(A) Data about competitors and
customers

(B) Data about the customers

(C) Strategic information about the
market

(D) Data about the competition

27. Which one of the following is an example

of mass marketing ?
(A) Rolex
(B) Ferravi
(C
(

D

Coca-Cola

)
)
)
) Loui-Vutlon

28. The cause and effect diagram is also
called

A) Pareto chart

B

)
) Fish bone chart
)
)

C

(
(
( chart
(

X
D) Concentration diagram

29. Poisson distribution is used to calculate
the probability of a

A) A normal distribution

(
(B) A binomial distribution
(C) Arare event

(

D) None of the above
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30. The cost elements of a row in a problem
are[32 18 24 18]. In applying VAM what
cost difference would be considered for

this row ?

31. Sensitivity analysis technique is used to

(A) Measure the impact of changes in

one variable

(B) Measure the impact of changes in

several variables

(C) Measure the impact of changes in

all the variables

(D) None of the above

32. Integer programming is suitable when
(A) The result needs to be an integer

(B) The result needs to be an odd

number

(C) The result needs to be an even

number

(D) None of the above

Total Number of Pages : 16
33. Whatis Type Il error ?

(A) Rejecting a false alternative
hypothesis

(B) Accepting a false alternative
hypothesis

(C) Accepting a false null hypothesis

(D) Rejecting a false null hypothesis

34. If two events A and B are mutually
exclusive, what does the special rule of
addition state ?

(A) P(Aand/orB)=P (A) + P (B)
(B) P(AorB)=P (A) + P (B)

(C) P(AorB)=P (A)—P (B)

(D) P(AandB) =P (A) + P (B)

35. In the equation y = mx + ¢, what does ¢
represent

(A) y intercept
(B) xintercept
(C) Zero
(D) None of the above

36. The sequence of strategy making
process is
(A) Mission, strategy, operational plans

(B) Strategy, mission, goals and
objectives

(C) Goals and objectives, mission,
strategy

(D) None of the above
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37. Which of the following is NOT part of
functional strategy ?

(A) Sales promotion

(B) Managerial control

(C) Advertisement

(D) Pricing

38. Which one of the following is Chandler’s
thesis ?

(A) Structure is determined by
technology

(B) Strategy is determined by structure
(C) Structure follows strategy

(D) None of the above

39. Standard of exception in a technique of
(A) Planning

(B) Control

(C) Motivation

(D) Leadership

40. Under BCG approach to corporate level

strategy which of the following SBU is a

question mark ?
(A) Modest + or — cash flow
(B) Large negative cash flow
(C) Large positive cash flow
(

D) Low + or — cash flow
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41. A success sequence in BCG matrix
involves the following sequence

(A) Cash cow, dogs, question mark,
stars

(B) Dogs, cash cow, question mark,
stars

(C) Stars, cash cow, dogs, question
mark

(D) Question mark, stars, dogs, cash
cow

42. Who invented the term entrepreneur ?
(A) Peter F. Drucker
(B) Elton Mayo
(C) Schumpeter
(D) Hugo Munsterberg

43. Successful entrepreneurs are all except
(A) Achievers

(B) Day dreamers

(C) Realistic

(D)

D) Result oriented

44. Who is not a new generation
entrepreneur ?

(A) Narayana Murthy
(B) Shiv Nadar

(C) Vikram Akula

(D) Singhania
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45. The first Public Limited Microfinance
Company in India is

(A) SKS Microfinance
(B) Manappuram Finance
(C) Muthoot Finance

(D) None of the above

46. Development that meets the needs of the
present without compromising the ability
of future generation to meet their own
needs is defined as

(A) Environmentalism
(B) Conservationism
(C) Sustainable development

(D) Balanced development

47. The possibility that workers who receive
special attention will perform better is
one interpretation of

(A) Hawthorne effect
(B) Halo effect
(C) Maslow’s theory

(D) Herzberg theory
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48. Stakeholders are groups or individuals

(A) Directly affected by a company’s
operation

(B) Indirectly affected by a company’s
operation

(C) Directly or indirectly affected by a
company’s operation

(D) None of the above
49. Ethics is all of the following except

(A) Study of how our decision affect
other people

(B) Being religious

(C) Moral rules that people apply in
making decision

(D) Study of people’s rights and duties

50. Good corporate governance requires
(A) Compliance with tax laws
(B) Compliance with company law

(C) Qualitative satisfaction of all stake
holders

(D) None of the above
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